mlﬂ' OMATION

Chiusura pneumatica “CPR50/63”
Pneumatic clamp “CPR50/63”

lMHeemamu4eckuu npuxxum “CPR50/63”

Rev. 15/01/2008




VEI AUTOMATION S.r.l

INDICE

INDEX
OCHOBHBIE XAPAKTEPUCTUIKU ..o eee e eseee s 1-2
YCTIOBUS SKITTIYATALIMM ... seeeeseeseeseeeeesses s ese s ees s 3-4
VHCTPYKLIMS 11O SKTIIYATALIMM ... eese s 5-6
LOMONMHUTENBHBIE OYHKLIAM ... eeseeee s 7-11
OMUCAHUE, OBOSHAUEHMS KOMA ...veoooveoeeeeeeeeeeereeeeeee s eseees e eseeseeseeseeeeeeees 12-13
PABMEPHBIE XAPAKTEPUCTUIKY ... eeees 14-17
FIPUHALIEXKHOCTWL. ... eeeeeseesees s ee e ses s es e s aes e s eeseeesseeeee 18-21
BAKITHOUEHVIE ... eee e eeeeeee e s seee e s ee e es e s eeeseeeeeesseseeseeseeseeeeeees 22
MAIN CHARACTERISTICS ....ooooeeveoeeeeeeeeeeseeveeeeeeeeseeeseeseessees e eeeseses e s e 122
CONDITIONS OF USE ... ees e ee s eseees s es s eeee e es oo 3-4
USE INSTRUCTIONS .....oooeeoeeeeeeeeeeeeeeeeeeeeeeeeeeseeeeseeeses e ess s e es e s ss e eeen 5-6
INFORMATIONS @Nd OPTIONS .....coevveeeeeeeeeeeeeeeeseeseeeseeeeessseesseeseeeseee s 7-11
COMMERCIAL CODE .......oooeeeeoeeeeeeeeeeeeeeeeeee e eeeeess e es s s e eeee e e e eeeees 1213
DIMENSIONAL PAGES ........cooveeeeeeeeeeeeeeeeeeeeeseeeeeeeesseeeee e eses e eeeee e s e seee oo 14-17
ACCESSORIES ........oovooeeveeeeeeeeeeeoeeeeeeeeeeeeeseveees s s esseeee s ees s s see s e s s e s eeenes 18-21

CONCLUSIONS ...ttt ettt a e ene s 22



OCHOBHbIE XAPAKTEPUCTUKU
MAIN CHARCTERISTICS

MHesmonpwxum Tuna “"CPR50/63" 6bin U3roTOBNEH COrNacHo
TpeboBaHUAM 3aKa34YUKOB MO CEAYIOLLUM XapaKTepUCTUKam:

- Cpok cnyx6bl ¥ HafEXHOCTb;

- B3anmozameHREeMOCTb C APYrMMU N3roTOBUTENAMM;

- BO3MOXHOCTL BUAOUIMEHEHUSR;

- ONTUMKU3aUUA CKNAACKOro y4eTa U NoNONHAEMOCTHU cknaaa.
Muesmonpuxum tuna "CPR50/63" umeer cneayouwiue
XapaKTepUCTUKM:

- CraHaapTU3MpoBaHHas KOHCTPYKUUSA C BOSMOXHOCTBIO KPENNeHUs
uunuHapos (Jet.1) anametpom 50 1 63 , a TaKke pasMeLleHUeM ABYyX
orBepcTuin G1/4" (der.2);

- JNuTtble Topubl ([eT.3) W3roTOBNEHb! U3 BLICOKONPOYHOW
NPeLM3UOHHOM| CTanu, CToka B 30HE MaKCMManbHOro HanpsHKeHUs
(55 HRC),

- 3axvumHON pbivar 13 neruposaHHom ctann ([er.4) ¢ nnacTuHammn
(OeT.5) Bo3peACTBYIOLUUMI HA HapyXHbIK WTUGT ynopa poeivara (fer.6),
KoTOpbit 06ecneynsaeT nepneHANKYNAPHOCTL MEXAY PbiHarom u
aHKepHO NNaHKON NHEBMOMNPWKUMA.

- YHUKanbHbl# 32XKUMHOIA pbivar ¢ BO3MOXHOCTbIO npeobpasosatb
npwkum Tuna "V1" 8 Tun "O1" u Hao60pOT, N3MEHUB NULLBL NONOXEHUE
nneva pbiyara (Puc. "A").

- YcraHoBKa UHAYKTUBHOrO garuuka ([er.7) unu nHeBMaTn4eckoro
AaTuymka (CTp.7) — aBTOMaTUYECKM.;

- BO3MOXHOCTb KpENNeHus Ha 4 CTOPOHAX CTOWKMU.

DOet.3

Det.7

Pneumatic clamp type "CPR50/63" was realized to sodisfy the
aspectatives of customers:

- Duration and reliability in the time,

- inter changeability with other producers:

- Modulation;

- Optimization warehouse and better availability.

Pneumatic clamp type "CPR50/63" has the following

distinctive characteristics:

- Standardised costruction with mounting for cylinder (Det.1) bore

50 and 63, on the cylinder there are 2 feeding ports G1/4" (Det.2),

- Precision cast steel flanks (Det.3), temper in the zone of max stress
(55 HRC),

- Alloy steel clamping arm (Det.4) with treat inserts (Det.5) for reaction
on external arm limit dowel (Det.6) that guaranteed the perpendicolahty
between clamping arm and anchorage plane of the clamp,

- Versatile clamping arm with the possibility to transform the clamp type
"V1"into a type "01" and vice-versa, simply changing the lever position
(Detail "A"),

- The setting of the inductive (Det.7) or pneumatic (Page7) sensor is
automatic;

- Possibility of fixing on 4 sides of upright.

DOerans "A"
Detail "A"

Het.2

Det.1




V-E-pAUTOIMATION S.rl

OCHOBHbIE XAPAKTEPUCTUKU
MAIN CHARACTERISTICS

- BHyTpeHHWe anemeHTbl BPALLEHUA U CKONbXEHUA (LWTUdTb,
coeanHUTeNbHbIE GONTeI, KPUBOLWINNLL) NPOLLNU TepMuyeckyio 06paboTky;
- PerynupoBaHue BHYTPEHHUX U HAPYXXHbIX SNEMEHTOB NPOMCXOAUT 3a
CYeT CneynanbHO 3anoNTHeHHBLIX POMMUKOBLIX NOAWMUNHUKOB ([JeT..8),
3Ha4eHue TeepaocTu: 50 HRC;

- 3awuTHble ynnoTHeHus (QeT.9) Ha noaLMNHUKaX NPeAOXPaHRAIOT
BHYTPEHHUI MEXaHW3M OT BHELUHero Bo3aeicTeua u o6ecneyusaior
COoXpaHeHue cMasku, 3anpaBsnsemon npu cbopke;

- C nomouwpio Tpy6br (QeT. 10) ANA perynuposaHus yrna packpbisa
MOXHO YCTaHOBWUTb 3HaueHue yrnos (15°, 30°, 45°,60°,75°,90°,105°,120°)
6e3 nepeycTaHOBKM UNW 3aMEHb! ANEMEHTOB KOHCTPYKLUK.

DeTt.8

<

MoaenuposaHue KOHCTPYKUMN aneMeHToB cnocobcTeosano
3HaYUTENbHOMY COKpaLLEHUIO Beca, yBENWYEeHUIO ynpyroctu 6e3
M3MEHEHUR NPOYHOCTU CaMOii KOHCTPYKLMM NPWKMMa. YNpYrocTs crany
NO3BOSIAET Pa3BMBaTh 3HAYUTENbHBIE MOMEHTBI YCUNUSA B XECTKUX
YCIIOBUAX 32)KUMaHUA, 3TO CBOWCTBO HE A0NYCKAeT CUTyauun
HEAOCTaTOMHOrO packpbiBa BHYTPEHHEN KONEHYATO-pblYaXKHOM
CUCTEMBbI, CM. Cnejylouiue CTpaHuLbl. 2

- Inner parts of sliding and tumbling (pins, connecting rods, crank) are
thermally treat;

- Internal and external material handling comes carried out exclusively
on full filling rolling bearings (Det.8), hardness value: 50 HRC,

- Protective seals (Det.8) on rolling bearings protect the internal
mechanics from external agents inclusions and guarantee, in the time, the
lubrication carried out during the assembly!

- Use of pipe (Del, 10) for adjust opening angle, can be adjusted to
standard angles (15°, 30°, 45°, 60°, 75°, 90°, 105°, 120°) without the
need to replace or change parts.

The modeling of the components has determined a notable reduction in
weight and the increased flexibility without compromising the strength of
the clamp. Steel elasticity allows to develop remarkable torques force
also in extreme clamping condition, this property avoids to lacked
opening of inner toggle system;, as describe in the follow pages.



YCJOBUA SKCIITYATALIUU

CONDITIONS of USE
[ins obecneuenun Hagnexallew paGoTel peiMar nHeBMONpMMMa To work properly, the arm of a pneumatic clamp type "CPR50/63" should
“CPR50/63” somxeH 6biTb yCTaHOBNEH NEPNEHANKYNAPHO NNOCKOCTH stay perpendicular to the fixing surface. This can be easily checked by
3axsarta. JTO NPOABAAETCA NYTEM KOHTPONSA BENUYUHBbI MAKCUMANbLHOMO measuring the maximum clearance between locating pin and arm limit
3a30pa MeXAY KOHTPONbHLIM WTUCTOM U YNOPHOA NOAYLLKOH pblyara. dowel.
OnTtumansHas pabota npwkuma gocTuraeTcs npu cobniogeHum A best quality clamp should be provided with pin of the right size for
COOTBETCTBYIOLMX pa3MepHbIX NapaMeTPoB phivara yu KnanaHos the clamping arm and flow control valves on the cylinder, that guaranteed
pacxoAa, yCTaHOBNEHHbIX HA NHeBMouunuHape. [ina obecneueHus the best functioning of the clamp.
ANUTENLHOO NEPUOAA COXPAHEHNS XAPAKTEPUCTHUK YCUNNS 3XKUMA, The reaction capacity of the arm limit dowel is extremely important to
TOYHOCTM M CTOMKOCTH BaXKHO CNEAUTb 3a Hagnexaiiei assure long-lasting clamping force, precision and resistance.

dyHKUnoHanbHoOW paboToi pbiuara.
Cnoco6 B03aeiCTBUA Ha YNop phiuara YpeasbliNaHO BaXEH ANA
obecneveHns ANUTENLHOTO YCUNMA 3a)XKMMa, TOMHOCTH U CTOWKOCTH.

OntumansHbie pabodne ycnosus OnTumansHble paboune ycnosus
3asop = 0 (mexay WTUHTOM 1 NOAYLUKON pbivara) 3asop =0,1 (Mexay WTudTOM U NOAYLUKON pbidara)

Ideal working condition Limit working condition
Clearance = O (between pin and dowel) Clearance = max. 0.1 (between pin and dowel)

Yrnosow Aonyck ppivara npu saxume = 10' makcumym
Arm angularity tolerance during clamping = max. 10"

lpeAenbHO AOCTWKNMBINH MOMEHT (BbiBepka A-B) HocTnxumas HepesepcUBHOCTL (BbiBepka A - C)
Highest obtainable torque (alignment A - B) Obtainable irreversibility (alignment A - C)
(A )

LituchT pyyHoro pacxkartus
Manual release bolt

=

%

eHT noBso oTa bivara / k . Ocb rHeaga obpaTHoro geiicreus

Arm rotation centre Axis of reaction slot
Cneaylowme anarpammel NoKasblBaloT AOCTUKUMbINA MOMEHT (N/m) The following diagrams show the obtainable torque (Nm) with a cylinder
npu aaenexunn B uunuxape 5 6ap, HaunHana ¢ 3° 40 KOHeYHOro pressure of 5 bar, starting 3° before of final position of clamping.
NONOXEHUA NPU 3aXKUMeE.
280 440
260 //-\\ <00l—f\
/E\ ’E\ 240 / \ ’E\ g 360 / \
—
SE =/ 22 wotf—\ cPRes
0 o \ E o 200
E g \ 5T \
a S 10 = 240
X5 58 N\
8o W N S o 200
[ 120 E c 160
I a \ > Q.
(] £ 100 \ = g 120
3 8 g0 P c9 ]
=0 o =0 @0
5 05° 1o 15t 20 25° 3 % 0 * s z 2= =

yron 3A>KVIMA/ CLAMPING ANGLE

w

Yron 3AXUMA / CLAMPING ANGLE



V-EpA UTOMATION 8.l

ycnoBua 3KNNYATAUUU
CONDITIONS of USE

[duarpamma MakcumanbHOro ycunus

Ouarpamma MakcMManbHoii Harpy3ku, npunaraemoi Ha pbiuar Diagram of max. force applied

Diagram of max. load aoplicable on the arm

v 9000
8 8000
7 \ 7000 \\
S 3
g e 2 6000 1\
2 :
=] N o
O (e 5000
g 3 - NIAN
= = AN\
(i [ ]
= . LEPR 63] = N~ CPR 63
[4] 3 2 s 3000 A < .
D N /| 3 - g
[ia) N g < <=
2 2000 7 \\ ~—
P [
CPR 50 R S e s T|cPr 50 T s
1 x| E: 1000 +— ¥ : x
= = ‘= £
(] , i 0 0 i
100 150 200 250 300 50 100 150 200 250 300
P SHWE OT UEHTPa BpalleHus (MM PaccroaHue OT UeHTpa BpawleHus (MM)
* Distance from centre of rotation (mm) * Distance from centre of rotation (mm)
Harpyska moxeT 6biTh NpUnoXeHa 2-Ms cnocobamm: * AnuHa
- Ucxoan 13 nokasaTeneit pacCTOSHUM, NOKa3aHHbIX B rpacuke * Length
- Mepepanta cornacHo nuHmMiA (aAnuKe) B rpacuke .__J‘t
1
The weight can be applied in 2 different ways: J
- Applied at the distance indicated by the graph,- V!
- Distributed along the length indicated on the graph. [ s
Bpems 3axuma/packpbiea = 1 cex. __Maxc. Harpyska
[laHHbie yCnoBus BO3MOXHbI NPY NPUMEHEHUN KNanaHoB PacxXoAa Max-weight E}g.__.?;
Closing/opening time = 1 second ~:E [ L:.
Condition only allowed if flow valves are used. ¢ e
Tun Makc. MomenT ot Beca (56ap) Makc. MomeHT 3axuma (56ap)
Type Max. torque by weightiness (5 bar) Max. Clamping torque (5 bar)
CPR50 3 Nm 270Nm
CPR63 4Nm 420Nm

MpumevaHue: 3HaveHne MOMEHTa MakCMManbHOW Harpy3ku npu
cuTyauuu, koraa ynop pbivara sHe ocu: CPR50=2,5Nm, CPR63=3 Nm.
NOTE: The max. load by torques for the applications with block ouf-
of-axis are: CPR 50=2,5 Nm CPR 63=3 Nm :

-

o
_—— = L
TP [
B Il A
5 .
[} )
] L ]
L |

Different working conditions from those described before could damage the
clamp and produce failures, such as:

- Problems to reach the irreversibility point;

- Problems to open clamping anm;

4 - Possible distortion of the inner reaction surface.

PaGoune ycnosus, npoTuBopevalyue ycnoBusM, ykasaHHbIM B kaTanore,
MOrYT BbI3BaTb MONOMKU NPIKUMA U aBapUiiHble CUTYaLuw:

- Mpobnembi B ABWKEHAN NPUXUMA K TOUKE HEPEBEPCUBHOCTY;
- MpoBnemsl packpbITUA poiuara npu pasxume.

- BoamoxHas aecopMaLna NOBEPXHOCTA TPEHUA.



MHCTPYKLUA MO SKCMNNYATALUUU
USE INSTRUCTIONS

OcHoBHas xapakrepucTuka npwxumos CPR50/63 — BO3MOXHOCTb
U3MEHEHUs Yrna packpbiBa pbiyara, NPoCToTa onepaywiA 3aMeHb!
WHAYKTUBHOTO AaT4MKa, NHEBMOLUNUHAPA W U3MEHEHUE MONOXEHUA
pblyara py4HoOro ynpasneHusi.

- W3meHeHue yana packpbiea pbivya2a.

MpumevaHue: BOIMOXHO TONLKO Ha npwkumax CPR50/63 ¢ MHAYKTUBHLIM
AATYMKOM.

Mopsaok AeicTBuiA:

- YcraHosutb pbivar (JeT.1) B NONOXEHUU pacKpbIBa;

- CHATb 3aLWMTHBIA wuTok (1eT.2) c oTceka ANS PerynupoBku yrna v
packpyTuTb pesbbosoi wrudt (der.3);

- MepeaBuHyTb pbiyar B NonoxeHnn Tpebyemoro yrna no yrnosomy
nHAukaTopy (deT.4);

- 3aTaHyTb WTUdT (MOMEHT 3aTkku — 30 N/m) 1 BCTaBUTb LUTOK BHYTPU
oTceka (ANA YCTAaHOBKU YrNOB YETHbLIX 3HAYEHWI perynmpoBartb C NeBoi
CTOPOHbI, AN YCTAHOBKU HEUETHLIN — C NPABON CTOPOHbI);

YcraHoBKa MHAYKTUBHOrO AaTuyMka — aBTOMaTUdeckas U He Tpebyer
L ONOMHUTENbHLIX ONEpaLWiA.

deTanus"A"
Detail "A"

- YcmaHoeka uHOyKkmueHo20 Oamyuka

Mopspok penicTuin:

- YcraHoBuTb poivar ([leT.1) B NONOXeHUU pakckpbiBa (MUHUMYM 60°).
[ins HacTpanBaeMmbix NPWKUMOB C YINOM packpbisa MeHee 60° OTBUHTUTL
wrugT perynuposku yrna (Qder.3);

- BeraBuTtb MHAYKTUBHBIN 4aTUKK (PUC. «A»).

YcraHoBKa MHAYKTUBHOIO AaTy1Ka — aBTOMaTu4eckas u He TpebyeT
AONONHUTENbHBIX ONepauunii (CM. BbiLLe). 5

Main characteristics of clamps CPR50/63 are the possibility to change
lever opening angle, the semplicity of sostitution operations of inductive
sensor and pneumatic cylinder and the change of position of the manual
control lever.

- Change lever opening angle

NOTE: Only for CPR50/63 with inductive sensor.

Proceed as follows:

- Set the lever (Det. 1) in opening position;

- Remove the protection (Det.2) from the angle adjustment compartment
and unscrew the threaded pin (Det.3);

- Move the clamping arm to the required angular position referring to the
angle indicator (Det.4);

- Tighten the threaded pin (clamping torque = 30 Nm) and refit the
protection inside the compartment (NOTE: to adjust even angles operate
on the left side and for odd angles operate on the right side).

The setting of the inductive sensor is automatic and doesn't require any
operation.

Det.4

Ve

Q'}_\V

X7}

- Inductive sensor assembly

Proceed as follows:

- Set the lever (Det.1) in opening position (min. 60°);

For regulated clamps with opening angle less than 60° unscrew the
angle adjustment pin (Det3);

- Insert the inductive sensor (Detail "A").

As view before the setting of the inductive sensor is automatic and
doesn't require any operation.



- 3ameHa yunuHopa
Mopraok AencTBuiA:

MHCTPYKLUA NO SKCIMITYATAUUUN
USE INSTRUCTIONS

- YcraHoeutb pbidar ([eT.1) B nONOXeHUU packpbiBa;

- CHATb 3aWuUTHLIA WUTOK ([1eT.2) ¢ oTceka ANA perynupoBKu yrna u
packpyTuTb peab6oson wrnudT (fder.3);
- OTBMHTUTL 4 BUHTa Ha uunuHape (deT.6) (npumeyanue: CPR50=M5,

CPR63=M6),

- OTCcoeaNHUTL WeCTUrpaHHLIM Kntouom pasmep 17 ([eT.7) WwuTok u3
cKkoGb! LUAPHUPHOro KpenneHus uunuHapa (JeT.8) u sameHuTs
MHEBMaTUYECKUA UMNUHAP (ANA NPUKUMOB C PYYHbIM YNpaBneHuem
BaXXHO CNeAuTb, YToGbl perynupoeoyHas wanba (det.9) 6bina
3akpenneHa U TofNIbKO C LMnNuHApoMm @ 63);
- 3aBuHTUTE YeTbipe BUHTa ANA M6 B UUnUHAPE (MOMEHT 3aTAXKKN
4Nm ana M5 v 6,4 Nm ans M6), (npumeyaHue: pekomeHAyeTcs
NpUMEHsNTb repMeTuk Loctite 242 cuxuii);
- 3aBuHTUTE WTUPT perynupoBku yrna.

Oet.1

koa. 05841/C

- Cylinder replacement:
Proceed as follows:
Set the lever (Det. 1) in opening position;

Remove the protection (Det.2) from the angle adjustment
compartment and unscrew the threaded pin (Det.3).
- Unscrew the 4 screws of the cylinder (Det.6), (N.B.:

CPR50 = M5, CPR63 = M6);

- Detach with a hex wrench size 17 the rod (Det.7) from the
clevis (Det.8) and replace the pneumatic cylinder (NOTE: For
manually controlled clamps it's important to check that the shim
washer (Det.9) has been fitted only if cylinder bore 63);

- Tighten the 4 screws of the cylinder (clamping torque 4 Nm for
M5 and 6.4 Nm for M6), (NOTE: it's advised to use Loctite 242

blue);
- Tighten the angle adjustment pin;

Q ~~] pDer.8

Komnnekr unnuxapa s c6ope
Complete kit cylinder (bore 50)

namertpom 50

BoamoxHo npeobpasosatb npwxum Tuna CPR50 B Tun CPR63 u
HaobopoT, 3aMeHuB NHeBMOLMNVHAP, W60 BbIGPaB pyuHylo onopy
npeobpa3soBaTs B Tun CPRM.

It's possible to transform the clamp type "CPR50" into a type "CPR63"
one and vice-versa, simply changing the pneumatic cylinder or,
choosing the manual support, transform into a clamp type "CPRM".

KomnnekT unnuhapa s c6ope (auametpom 63) | xon. 05842/C

Complete kit cylinder (bore 63)

kon. 05841/C

PyyHas onopa
Manual support Ko DEBRAG




VEPAUTOIWATION S.rl

AONONHUTENBHbIE ®YHKLUWN
INFORMATIONS and OPTIONS

- Cxema Ons uHOykmueHo20 Oamyuka

TexHU4ecKue xapaKmepucmuKu:

- Pabouee HanpsxeHue numaxus: 10-30 VDG;

- Makcumanbrbiill mok nepexmoveHus: 150 mA;
- OHepzonumaHue: S 20 MA;

MadeHue Hanpsxerus: < 1.8 V.
TemnepamypHbii Quana3oH: om -25° do 70° C.

: |
= N
Ve nY Y
i
g ] [, 26
sle] B @M
1o | 61 = | [ i°'5
& 9 & | © B0 g
- E

UHAYKTUBHBIN AaTyuk Kon 05688
Inductive sensor

- Cxema Ons nHeeMamuyecko2o Oamyuka

Lluazpamma 3aXuMHO20 pbivaza 8 paboyeM NooXeHuU (3aum).
lMpumeyanue: ucnonb3oeaHue NHEEMamMU4eCcKo20 damyuka
npedycMmampusaem onpedeneHHbIl NoCMosHHbLI y20n packpsiea
8Mecmo nepeHacmpausaemMoz0. 3HavyeHue yana 00/kHO Oblmb
yKasaHo npu 3akase.

A
1
&

:

&

R\

o)

>
75

[HeBMATUYECKMI AATYMK yon 3/382
Pneumatic sensor

Y3en nHeBMaTMyeckoro AaTunka
kop. 05844/C Pneumatic sensor group

-Diagram for inductive sensor

Technical data:

- Feeding voltage: 10-30 VDG

- Max. commutating current: 150 mA.
Power supply: < 20 mA.

Voltage drop: <1.8 V.

- Temperature range: -25° a 70° C.

CurHan packpbisa @ r
opening signal Hed \

CurHan saxuma

1
clamping signal 502 <H>‘\

2 GlaV
O | 5
i ?@J'
11 81
2 4 3 1
Al A2 - .

— Diagram for pneumatic sensor

Diagram with clamping arm in working position (clamping).
NOTE: Application of pneumatic sensor involve a fixed opening
angle instead a vaniable angle. This angle must be specify in
purchase code.

——@ Bwixoa/ Output
d% ‘
T r/'rw ‘
_® Cetb / Network

Cetb/ Network
T .
AW
|—( ) Boixog / Output




AONOJNIHUTENbHbLIE ®YHKLUWUA
INFORMA TIONS and OPTIONS

- Pbiya2 py4HoO20 ynpaesieHus - Manual control lever

Pbiyaz py4HO20 yripasneHus MoXem rpUMEHSIMLCS, MOMbKO eClU 6 Manual control lever can be applied only if the clamp mountes
appropriate crank (cod.05619/C) and fork (cod.056W instead standard

npUXUMe ycmaHoesieH cneyuansHbild kpusowun (kod. 05619/C) u
crank (cod.05695) and fork (cod.05611/A).

susnbYyamelii 3axeam (ko0 05611) emecmo cmanGapmHbIX Kpueowuna
(k00 05695) u sunsyamozo 3axeama (kod 05611/A).

KomnnexkT pyuHoro ynpasnenus (koa 05631/C) | koa. 05631/C
Complete manual control group

246

Pykositka
(PykosTka BCTaBNAETCA HAXMMOM) ko4, 3/020

Handle(insertion by pressing)

—d

L Peivar (MaTepuan crepxHs R80) koa. 05624
MNpumeyanue: He YANUHATL PbiMar PYYHOrO YNpaBneHus
Lever (R80 drawn material.)
NOTE: Not lengthen hand lever

- MH3meHeHue MONIOXeHUS y3/1a py4YHO20 yrpaeneHus - Change position of the manual control

Mopsaok aeicraui: group
- YCTaHOBUTL MHEBMOMPWKUM B NONOKEHNIA 3BKUMA; Proceed as follows:
- CHSTb y3en pyuHOro ynpaBneHus, OTBUHTMUE ABa BUHTa Ha M8; - Set the arm in clamping position;
- OTBMHTUTB pbivar ([eT.1) U CHATL 3alyUTHBIR BKNaabiw (deT.2); - Take out the manual control unscrewing the two M8 screws;
- YCTaHOBMTb y3€n Ha NPOTUBONONOXHOI CTOPOHE (B Cnyuae - Unscrew the control lever (Det.1) and remove the protective guard (Det.2);
3aTpyAHeHuii ocnabuTs Kpuiwky (JeT.3) C NOMOLLbIO LLECTUIPaHHOro - Engage the group on the opposite side (in case of difficulty loosen the
Kniova Ha 6, BcTaBuTb y3en 1 NIOTHO 3aKPbITb KPbILUKOM); cover (Det.3) with a hex wrench size 6, insert the group and close the
- BCTasuTb 3aLWUTHbIN BKNAAbILW 1 3achMKCUPOBATL PbiYar B HYKHOM cover tightly);
NONOXEHUN (PEKOMEHAYETCA UCNONb3oBaTh repMeTuk Loctte 270). - Insert the protective guard and fasten the lever in the desired position;
(NOTE: it's advised to use Loctte 270).
- ‘/—-‘\.
% N

% 6 Tapenb4arbix NpyXuH

( m /L (92x18x1)

\ / 6 belle view washers

Oetd | \/;»-__./-' (9.2x18x1)
i

. / / PerynuposouyHas npoknagka/iuaiba (ans npwxumos "CPRM63")
— VA __Shim washer (only for "CPRM63")

N per2




AONONHUTENIbHbIE ®YHKLIUN
INFORMATION and OPTIONS

HaunmeHoBaHue Koa Kon-Bo
50
GRE Description Code Q.ty
Mpo6ka-amopTusaTtop
; 1 Assorber buffer 05629 1
3 ) 2 YnnoTHuUTenbLHaa npoknagka 4/581 1
/ Sealing gasket
s BepxHsisi KpbiLlLKa
@ Superior head 05690 !
YnnoTHUTENbHOE Konbuo 47.35x1.78
4 O-ring 47.35x1.78 Hhaz “
ok
5 Shaft 05723 1
MopweHsb
6 Piston 4/579 1
Llanba
7 Washer 1/211 1
lavika
Cmaska Tecnolube 8 1/013 1
POLYMER 400 Il:lut M10
unb3a
9 Barrel 05796 1
HwxHARA Kpbiwka
W Inferior head 05084 1
LWainba nog suHT M6
11 Washer for M5 screw 11279 4
Bunt M5x140
12 Screw M5x140 1/435 i
. LLiain6a nog BuHT M6
i‘ (‘)\ Washer for M6 screw 17248 4
10 : Burt M6x25 P 4
Screw M6x25
* Ons uMNUHAPUYECKOTO COEANHEHNA
* For connection cylinder-upright
CPR63 HaumeHoBaHue Koa Kon-so
Description Code Q.ty
Mpo6ka-amopTusatop
d ! Assorber buffer 05629 1
~ YnnoTHUTENbHAA Npoknagka
S ] | e Sealing gasket il !
! lTj 3 BepxHas Kpbilka 05626 1
M5x140 [ M6x25 | M6x140 Superior head
MOMEHT 3aTSKKU 4 Nm 10 Nm 6,4 Nm 4 an_IOTHMTeanoe konbuo 47.35x1.78 4/583 2
Clamping torque O-ring 47.35x1.78
Tun repmeTuka 242 cuHuin 5 Wrok 2 1
Loctite type 242 blue Shaft 05723
MopweHb
e 6 Piston 4/580 1
Xema NHeBMaTU4YeCcKoro y3rna uunuHgpa an6a
Pneumatic circuit diagram of cylinder 7 Washer 1211 1
lanka
8 Nut M10 1/013 1
Manb3a
[ID:Z;N PasomxHyTo/Open 2 Barrel 05 f
HwxHAs Kpbiwka
10 Inferior head 05088 1
Wainba noa BuHT M6
" Washer for M6 screw 11248 4
BuHT M6x140
12 Screw M6x140 11436 4

3amkHyTo/Close IIEIZT}N—'




AONMONHUTENbHbBIE ®YHKLIU
INFORMA TIONS and OPTIONS

/

\\!v.nﬂiii/_\..
\ 7 r/m\. N

Cwmaska Tecnolube NYOGEL 774



AOONOJIHUTENbHbLIE ®YHKUWUN
INFORMATIONS and OPTIONS

HaumeHoBaHue Koa Kon- HaumeHoBarue Kop Kon-
Description Cod BO Description Cod BO
Q.ty Q.ty
3axkumHoM pbivar Kpueowmn
1 (ueHTpanbHbIA) 05625 1 2 Crank bl 05695 !
Central clamping arm CronopHoe konsuo Seeger 12E
= = 20 3/115 2
1D 3aXuMHOW pbldar npasbiv 05625/DX 1 Seeger 12E
Right clamping arm 21 PonuvkoBbli NOALLMNHUK 04880/C 2
1S 3axuMHOIA pblyar nesbiit 05625/SX 1 Rolling bearing
Left clamping arm 22 LWrucT ANA NOALMNHKKOB 04242 1
2 LLirudT ynopa pbivara 05683 2 Pin for bearings
Am limit pin Bunsuatbiv 3axsat
23 % 05611/A 1
3 Ynop pbiyara 05609 2 Fork
Arm block i 24 LLituchT curHana saxartua 05685 1
4 WHgukarop yrna 05909 2 Clamp signal pin
Angle indicator Tpy6a
= 25 . 05610 1
5 LWaibbl ans BuxTa nog M8 1/259 2 Pipe
Washer for M8 screw 26 LituT curdana packpbisa 05684 1
6 Bunt TCEI M8x25 1/018 4 Opening signal pin
Screw TCEI M8x25 27 WHAYKTUBHBIA AaTumk 05688 1
7 YnnotHexune 4/082 2 Inductive sensor
Protective seel 28 LWaiba ans suHTa nog M5 1/096 2
8 MoaLWMNHUK ANA KpoBOLIKMNA 3/019 2 Washer for M5 screw
Bearing for crank 29 BunT TCEI M5x12 11296 2
9 JleBwiit TOpey 05618/SX 1 Screw TCEI M5x12
Left flank 30 MpaBbint TOpey 05618/DX 1
MpeaoxpaxuTensHas Right flank
10 nnacTuHa 05687 2 31 Bunt TCEI M6x20 1/039 3
Protective guard Screw TCE|I M6x20
UWait6a gns BuHTa nog M6 3nacTuyHbliA Wwun 96x40
11 Washer for M3 screw s B 32 Elastic thorn @6x40 14433 2
BunT TCEI M3x12 LLirugpT perynupoBku yrna
12| Screw TCEI M3x12 il T 33 | Angle adjustment pin gom2s | 1
LWitugpT ynopa pbivara YnnoTHuTensHoe KonbLo 2,5x1
'3 | Am limit dowe! bacar o 1 34 | O-ring 2.5x1 Wes | E
Wai6a aAna BuHTa noa M6 JnacTuuHblii Wun @ 2,5x24
14 Washer for M6 screw 1/248 9 35 Elastic thorn @ 2.5x24 s 1
Bunt TCEI M6x30 Bunt STEI M5x6
15| screw TCEI M6x30 e | 2 36 | Screw STEI M5x6 1/326 !
LLitucT packaTtus peivara
18 Release pin aim 05176 1 -
EosnMeIbHER L0 *Ang npwxumos Tuna CPRM unu CPRM50/63
17 Connecting rod 05622 2 *For clamp type CPRM or CPRM50/63
WTudT ANA Kpusowuna
18 Pin for crank 05623 1
*Ans npwxumos Tuna CPRS50/63 T e Ko
A Kon-
*For clamp type CPRS50/63 Description Cod O
Q.ty
HaumeHoBaHue Koa Kon- Kpusowmn
Description Cod BO 19 Crank 05619/C 1
Qty BunouHsIii 3axBaT
3 | Amvied 06120 | 2 2| Fork kK
m block
2 M8x25 M3 LWrnucht perynuposku yrna
x12 M6x30 M5x12 M6x20 Angle adjustment pin M5x6
glglr:\i'gi?;?c;ﬁ? 25Nm | 1,5Nm | 10Nm | 59Nm | 10Nm 30 Nm 5,5 Nm
Tun repmeTnka Locitite | 242curuin 242¢cuHniA 242cuHui 242cunni
Locitite type 242blue | ~— | 242blie | T 242 blue BRILGCRIACHE || seopis

1




VEI AUTOMATION Sl

OMUCAHUE U OBO3HAYEHUE KOOA ANA OPOPMJIEHUA 3AKA3A
COMMERCIAL CODE DESCRIPTION

€50 vi  C

Twun npwxuma n guameTp
nNHEeBMOLMNMHApa:

C50 = CPR50 (c uunurapom 050)
C63 = CPR63 (c unnuHapom 063)

Clamp lype and cylinder bore:
50 = CPR50 (with cylinder 250)
(63 = CPR63 (with cylinder 063)

Tun 3aXUWMHOro pblvara
V1 = tvn poivara «V1»
O1 = Tun pbivara «O1»

Type of clamping arm:
V1 = lever type V1
01 = lever type ‘01

Yron packpbiBa padblira.
Ecnu 3HaueHus He yKasaHbl,
NPWXUM NOCTaBnNsieTcsa C
MaKCUManbHbIM Yrrom.

Opening angle of clamping arm.
If the angle is not indicated the
clamp comes supplied with the
maximum gngle,

Twun gatuuka:
O = 6e3 paTumnka
| = cuHa.. gaTu.
P = c nHeB. gaTJ.

Type of sensor:
0 = without
| = indultivo
P = pneumatico

C = ueHTpanbHoe
D = npaeoe
S = neBoe

MonoxeHue pbiuara 3axuma:

Position of clamping arm:
C = central

D = right

S = left

* XapakrepucTuku no sanpocy.
CranaapTHbii yron packpeisa 105° (120° - Tonbko Ans poivara Tuna V1);
Yrnbl MEHbLUMX 3HA4YEHUH MOryT GbiTb YCTAHOBNEHb! C UHTEPBanaMu B
15°. YkasbiBaTe 3HaueHue yrna o6asaTentHo ANA NPUXKUMOB C
NHEBMaTUYECKUM AaTUUKOM.

12

*Upon request.
Standard opening angle 105° (120° only for lever type "V1").smaller
angles can be set with intervals of 15°. It's oblied to specify this angle far
clamps with pneumatic sensor.




OMUCAHUE U OBO3HAYEHUE KOOA ANA O®OPMIIEHUA 3AKA3A
COMMERCIAL CODE DESCRIPTION

Cxema «A»
Diagram «A»

cM50

Tun npuxuma

CM=CPRM (¢ nHeBMOUUNUHAPOM)
CM50 =CPRM50 (c uunungpom @350)
CM63 =CPRM63 (c uunungpom 963)

{lamp type and cylinder bore:

CM = CPRM (without cylinder)

M50 = CPRM50 (with cylinder 250)
(M63 = CPRM63 (with cylinder @63)

LS

b

yKasaHue nonoxeHue
pbiyara.

LS=pblvar cnesa
LD=pbivar cnpaea

Py4yHoe ynpasneHnue u

LP= npepycraHoska pbidara

(TUN 3aXUMHOTO pbluara
V1=Tun psivara «V1»
O1= Ttun poiyara «O1»

specify position:
LS = arm left
LD = arm right

Manuol control lever;

LP = arrangemen! arm

V1 = lever type V1"
01 = {ever type 01"

Type of clamping arm:

L)

Yron packpbiBa pbiyara. Ecniv
3HaYEHUe yrna He yKasaHsbl,
NPWXWUM NOCTaBNAETCS C
MaKCyMasnbHbIM YrioMm.

[Opering angie of clampiig arm. |
if the angte is not indicated the
clamp it comes supplied with the
maximum angle.

Tun gaTmyumka:
O= 6e3 gatu.
I=c nHayKT. AaTy.
P=c nHeBM. gaty

Type of sensor:
O = withaut
| = induttivo
P = pneumatico

[MonoxeHue

=npasoe
S= neBoe

C=ueHTpanbHoe

3axsaTta:

Position of
C = ceniral
D = right
S = left

clamping arm:

Cxema «B»
Diagram «B»

CS5

Tun npuxuma v auameTtp
NHEeBMOLIMNVHAPA:

CS50 =CPRS50 (c uunuHapom @50)
CS63 =CPRS63 (c uunuHapom @363)

Clamp type and cylinder bore:
(S50 = CPRSS50 twith cylinder 850)
(S63 = CPRS63 twith cylinder 263!

V1= pbivara «V1»

V1 = tever lype V1"

Twun 3aX1MMHOro pblyara

Type or clamping arm:

MonoxeHue pbiyara
npwxuma:
CS=ueHTpansHoe
DS= npaBoe
SS=neBoe

Position of special
clamping arm:

S - cenlral

pS = right

SS =~ left

13

L

15
1

Yron packpbiBa pbiyara.Ecnu
3HAYEHUA yrna Ha ykasaHbl, NPpUXuM
NoCTaBNAETCA C Makc. yrnom. 15°

Sfandard opening angle of clamping
arm 15°.

Tun gatumka: Type of sensor:
O= 6e3 gaTu. 0 = without
I= c wHp/. paty. | | = induttivo
P=c nHes/. aat. | P = pneumatico

*Upon request
*XapaKTepucTuku no 3anpocy




V EF AUTOMATION 8.rl

NHEBMATUYECKWUM NPVXUM "CPR 50/63" TUM "V1" U "O1"
PNEUMATIC CLAMP "CPR 50/63" type "Wand "01"

Tun “O1”
Type “O1"

75
210 /144
S 65’_./"__|
= {
O O 3 (' '
g 9 !
9 ) T g g
"1 o
d 304 I n 3 10 1008 3
N g N O <
= ' g = N
~N -
Ll = g
- Pedl I d wn
n
ST L — :
NN z
A B P
oS o m ny
¢ |35 - &
7
i) = { x
\
o \G1/4
- P o
»"'
,.-/ Tun «V1»
1 Type «V1»
Wi
L4 -
I ‘z} =od #[lonyck Ha HanpaBnsiowme oTeepcTus: +0.02
L1 I L #Donyck Ha pe3b6oBbie oTBEpCTUA: 0.1
Dowel holes tolerance: +0.02
Screw holes tolerance: +0.1
0.1
[o]— b4y 5
%e 1 (T3 e
(€ o-BN&er | $ #
p N H
5} R i g I’\. o1 T
i DG A M g
130 s0.]
+0.02 |
BosmoxHo TpaHchopMupoBaTe npwxum Tuna O1 B TN V1, CranaapTHelii yron packpbisa 105° (120° Tonbko Ans pbiuara Tuna V1);
W Hao6opoT, N3MeHUB NULLL NONOXEHNe pblvara YITbl MEHbWEro 3HaYeHNs MOryT ObiTk YCTaHOBNEHL! C UHTEPBanamun B 15°,
It's possible to transform the clamp type "O1” into a type "V1" Standard opening angle 105° (120° only for lever type "V1) smaller
one and vice-versa, simply changing the lever position. angles can be set with intervals of 15°.
Makc. pabouee
Tun [unameTp nHeBMOUMNUHAPA L1 L2 L3 L4 Makc. momeHT 3axsata (npu 5 6ap) Bec Aasnexune
Type Cylinder bore Clamping max. torque (5bar) Weight Max. working pressure
C50* 50 Mm 45 (1345 [ 371 76 270 Nm ~5kr 8 6a
c63* 63mm 52 137 376 | 100 430Nm ~5,5 «r P

Mpumep nonHoro obosHayeHns koaa ANA odOPMNEHUA 3aKasa CM. Ha CTp. 12

“Exampile of full symbol for ordering a page 12

14



NMHEBMATUYECKWUW NMPWXUM "CPRM 50/63" TUM "V1" U "O1"
PNEUMATIC CLAMP "CPRM50/63"type "Wand "01"

Mpumeuanue: BapuaHT ¢ pyuHbIM ynpasneHuem U NHeBMOLUNNHAPOM Tun «O1»
NOTE: Version with manual control and pneumatic cylinder T Type «O1»
e
*
! \
I £~: 7460
e mQx.
Tun «Vi» i
Type «Vi» 5° 1

Bo3MOoXHble NONOXEHUS PYKOATKM PYYHOTO ynpasneHus
Possible positions for manual control rod
X 3
r\_’-m
v d B¢ B |
4 | & 30° | Se°
& | & , %50 | 77
60° | 86°
@ 9 2 \: 75° [ 101°
W 90° | 16°
R
L\ 105° | 131° T “q
- - 120° | 126° ONbKO ANS NPUXUMA TUNA
e '.’:,.'{\ Only clamp type “vV1”
VW
Fa
"
"J’ LI [aHHble no pasmepam, 34ecb He ykasaHsi, CM. CTp. 14;
e 7
Tee-X N0 XapaKTepPUCTUKaM NPUXUMOB PYHHOrO YNpaBNeHUs cM. cTp. 8/
Far dimensions not shown see page 14;
as regards manual control characteristics see page 8.
BoamoxHo TpaHchopmupoBaTh npwkum Tuna "O1" B Tun "V1",
1 Hao6opoT, U3MEHWB NULLIL NONOXERUE pbivara
It's possible to transform the clamp type "01" into a type "V1"
one and vice-versa, simply changing the lever position.
CranaapTHblit yron packpbiea 105° (120° Tonbko ans pelyara Tuna V1);
yrnbl MEHbLUEro 3Ha4eHus MoryT 6biTb YCTaHOBNEHb! C UHTepBanamu B 15°.
Standard opening angle 105° (120° only for lever type "V1"). smaller angles
can be set with intervals of 15°.
~Makc. ycunue npu Makc. pabouee
Tun [uameTp nHeBMOUUNUHAPA Makc. MOMeHT 3axBaTa (npu 5 6ap) Bec PYYHOM ynpasneruv AasneHue
Type Cylinder bore Clamping max. torque (5bar) Weight Max. manual force Max. working pressure
CM50* 50 Mm 270 Nm 5,5 kr
CM63* 63mm 430Nm 6K BOGN & Gap

Mpumep nonHoro o6o3HaueHNA Kona ANA OPOPMNEHUS 3aKa3a CM, Ha CTP. 13_cxema «A»
*Example of full symbol for ordering a page 13 diagram “A”

15




V EF AUTOMATION S.rl

MHEBMATUYECKWUW NPVXXUM "CPRM" TUM "V1" U "O1"
PNEUMATIC CLAMP "CPRM" type "Wand "01"

Mpumeuanne: BapnaHT ¢ pyuHbiM ynpasneHuem 6ea nHesMoLnnuHApa. Tun <O1»
NOTE: Version with manual control, without pneumatic cylinder. : =, _—
~. Type «O1»
. 9.
8 ‘
Tun «Vi» &
Type «Vi» j
" oo
e
-'/I
ll/l
/
1A -
il T Bo3moxHbIe NONoXeHUA DYKOATKN PYYHOro YNpaBneHus
o ! Possible positions for manual control rod
¢ [s)
~t \ ?z < | B
o - A\
4 | & <L Fo\. &
o ¢ Nt bR
\'ﬁ: = K vo=et 30° | 56°
sl —\5‘ 45° | 71°
| O \ig Sq}ﬁ 60° | 86°
SN[ 75° | 101
ol R 90° | 116°
L 105° | 131°
thhr T T ) 120° | 1467 e OTEKO ANA npWKUMa T V1"
‘)y(_ | Only clamp type “V1”
:")( A. [JakHble no pasMepam, 3gecs He ykasaHbl, CM. CTp. 14;
47 5 ‘T\ '\ 2 Mo XapaKkTepUCTUKam NPKUMOB PYYHOTO YNpaBneHus cM. cTp. 8
Far dimensions not shown see page 14;
as regards manual control characteristics see page 8.
226 BosmoxHo TpaHcopMupoBaTs npwkum Tvna "O1" B Tun "V1",

¥ Hao60pOoT, N3MEHVB NULLb NONOXEeHUe peivara

It's possible to transform the clamp type "01" into a type "V1"
one and vice-versa, simply changing the lever position.

CranpapTHbIA yron packpbiBa 105° (120° Tonbko ANA peivara Tuna “V1");
Yribl MEHbLEro 3Ha4yeHusi MoryT ObiTb YCTaHOBNEHBI C MHTEpBanamiu 8 15°.

Standard opening angle 105° (120° only for lever type "V1").smaller angles
can be set with intervals of 15°.

[laHHblil NHeBMONPWKUM YKOMNNEKTOBaH ANA COeAVHEHUA C
NHEBMOLMNUHADOM.

The clamp is prearranged for air cylinder connection.

BHUMAHUE: ans npepoTspalyeHus nageHust ynopa pbiyara nocne

Tun Bec pyqi?n}lﬁ‘g;zigz:” PacKpbiBa PEKOMEHAYETCS UCNONb30BATL Y3€N OFPaHUMUTENS pbiuara (CM.
Type Weight Max. manual force CTp.20).
CMm* ~5,5 kr 100 N WARNING: To prevent the block dropping after the opening, it is advised to

use the lever latching group (See page 20).
TIpumep nontoro o6osHaueHus koaa Ans oHopMIeHNs 3aKka3a CM. Ha CTP. 13 cxema «A»
*Example of full symbol for ordering a page 13 diagram “A”

16

]




VEl AUTOMATION S.rl

MHEBMATUYECKWUW MPUXWUM "CPRS 50/63" TUM "V1"
PNEUMATIC CLAMP "CPRS 50/63" type "V1"

NPUMEYAHUE: MakcumManbHbivi U CTaHAAPTHbLIA yron packpbisa 15°.
NOTE: Max. and standard opening angle 15°.

75
210
| =
r ’\v .’“ g |
] { 5 1 ]
Pl el
[ !
-4 g
i N
) § s) 3
e ¥ 4 1A
o~ =L
&) 8 .
& o
H n
& o)
o o E—
D 2
o™ mn
-l m -
3 5
e o
x
N 5 G1/74"
I rd
&r I =&

#[lonyck Ha Hanpaensiowme oTeepcTus: +0.02
DOonyck Ha peab6oBbie oTeepcTus: +0.1
#Dowel holes tolerance: +£0.02

Screw holes tolerance: 0.1

C

5

’ Makc. pabouee
Tun [vameTp nHeBMoUMNUHApPa L1 L2 L3 L4 Makc. momeHT 3axeata (npu 5 6ap) Bec AaBneHue
Type Cylinder bore Clamping max. torque (5bar) Weight Max. working pressure
CS50* 50 mm 45 |134,5 371 76 270 Nm ~ 5 kr 86a
CS63* 63mMm 52 [137 376 100 430Nm ~5,5 kr P
) *Mpvmep nonHoro 0603Ha4eHmns kofa Ans odopMeHvs 3akasa cMm. Ha cTp. 13 cxema «By

*Example of full symbol for orderina a page 13 diagram “B”

17



V EF AUTOMATION 8.l

AOONOJTHUTENbHBLIE NPUCNOCOBNEHUA

ACCESSORIES
[aHHbli TUN NHEBMONPKNMAa MOXET ObITb YKOMNNEKTOBaH The following accessories are available on this type of clamp:
CcneayowumMin AoNoNHUTENbHBIMYU NpUCNocobneHnamu: - Protections for inductive sensor (Det.l);
- 3awwmrHas nnaHka (det.1). - Fixing blocks (Det.2);
- KpenexHein 6nok (dert. .2); - Lever latching group (Det3;)
- Ysen orpaxuuurens peivara (Jer..3); - Safety assembly (Det.4) to keep the lever in the clamping position
- TpeaoxpaHutensHoe ycTpoiicTeo ([eT.4) ANs yAepKaHus pbivara B (patented);
NONOXEHUN 3aKUMA (3anNaTEeHTOBAHO); - Distributor for inferior connection (Det.5).

- Pacnpepenurens ans HWkHero coeguHeHus (dert.5).

Oet.2
uog]
‘ (&)
;
i Det.5 Oet.4
| ,4,/"/
A"/ i
c|T




AOMNONHUTENbHBLIE NPUCNOCOBNEHUA

- 3awumnas nnavka 0ns uHOyKkmMuUeHoO20 Oamyuxa

PekomeHayeTcs ucnonb3osarh Nnaxky Tuna “B” Hexkenu Tuna “A”,

ecnu Tpebyetca ocTaBUTb CBOGOAHOI 3aAHIOI0 CTOPOHY NOA Kpennexue
AONONHUTENbHBIX NPUCNOCOGNEHWIA.

Kop 05806

&

]
N

i

{Blﬁn

58

18

- Kpenextbie 6noku

Koa 05777

9{
~
(o]

N 3
N 26
\
e 1™ A
E3 o1
= ==
x| | &
I
73
m Pl 72N
\\rj AU AP

() «0.02

4 _fori @9

4 holes @9

N
m

f:: 4

o

1Yl

3 forl @8H7

holes ©08H7

19

ACCESSORIES
- Protections for inductive sensor
It's advised to use protection type "B" than type "A" if want leave free
posterior side for an eventually fixing.

3 fori A8H7

Kop 06143

- Fixing blocks

27 205

37 401

3

9404

3 hotes @8H7 |
1}

[,
my

NN
12

27

16 .g?“

6 fori @9

6 holes @9

55 81

3201
<

ey
A,

o &
$ &
D @

7_0

1301

AT

2291 300002

_..I,Q]EL.._

W s

Kog 04402

(COMAU_S54vvP42]

Koa 05778

4 fori @9

4 holes 29

7 04

[
&

R

.

.
v ey

oy
\,

"\,
,

<
.,
\,
N,

5

/ g

Bl

16 3%

3 fori @8H7

3 hotes O8H7



[OMNONHUTENBHbBLIE NPUCNOCOBJIEHUA

ACCESSORIES
- Lever latching group
This device (detail "A") applied on the side of the clamp ensure, during
the lever opening and when there isn't air in the pneumatic circuit, that
the applied clamping block doesn't fall due to inertia. (NOTE: Not
exceed the max. load torques applicable to the lever).

- Y3en ozpaHuqumens pbi4aza
[anHoe npucnocobnenue (fet.”A"), 3akpennerHoe cGoKy npuwxuma,
CnyXuT Ans Toro, 4to6bl Npu packpbiBe pbivara u B cnydae
OTCYTCTBUA BO3AYXA B NHEBMATUKOIA CETH, YNOP 32)XUMHOTO pbluara He
nagan no uxepuuu.(Mpumevyasue: npeBblleRUe 3HAYEHU!
MaKCUManbHbIX MOMEHTOB Harpy3ku Ha pbluar HeAonyCTMO). Ordering example:

Mpumep o6o3HaveHus npu 3akase: X

C - AL45 - D

ICTOpOHa pacnonoxeHus
npucnoco6nenus:
D= npaBasn cropoHa

Yron packpbiBa 3aXWMHOr0 psiuara

e N Ty g
CM = C py4HbIM yripaBneHuem S NOMTE SEpls 1 BeucE:
D = righ! side

S = left side

Clamp type where applie The device:
C = without manual conirol
(M = with manuat controf

¥ Yxa3sblpaeTcs TonbKo ecnuy npukum 6es pbiuara pyyHoOro ynpasnexus

* Specify only for clamp without manual lever

Cropona S O il 12 TopoHa D \
SideS |, Al 1 SideD I
s‘\ -ie X 1 '/‘ L
{am]]
X i ]
+\ J
% [ @[t /
313 —
D | D [etanb “A”
31 Detail “A”
&
o i ~.,
-
7/ . at

. ] Jetans “B"

2 ~4 Detail “B” =
«pr | <%

- Safety assembly to keep the lever inthe clamping
position

It's advised to use this accessory (detail "B") when momentarily
disconnecting from the pneumatic circuit during handling and in case of

- lpedoxpanumensHoe ycmpoiicmeo dns ydepxaHus
pbiva2za e MosIoKeHUU 3aKumMa

PekomeHayeTca ncnons3osars aTo npucnocobneHue (puc. “B”) npn
BPEMEHHOM OTKIIOUYEHUN OT NHEBMATU4ECKON CETH BO BpeMs paGoThl
" B CNy4ae BO3HUKHOBEHUA BUGpaymid. vibrations.

CPR50 kog 05841/AS

CRP63 kog 05842/AS

20



- Pacnpedenumenu

ONst HUXHUX cOeQUHeHUl

AONONHUTENBHBLIE NPUCNOCOBJIEHUA
ACCESSORIES

- Distributors

for inferior connections

.|_
-
203, o3
=) 285
i ON
k& \"‘\-,(/2"'] g Kanan ka6ens mukpopene
= A= Passage for cable of micro ™[] ~
wl / g -
i 2 /
— | i — / N
/1 A1)
!__/ A J
\ \-.\ c T
A, 45 .
{ 3 1 (4 Mpumeyanue: ToNbKo ANS NPWKUMOB C U UBHbIM A3TYUKOM.
o NOTE: only for clamps with inductive sensor.
Tun Koa L1 L2 L3 L4 dnaxey, PerynsaTop pacx. |CoeauHenue LWainba
Type Code 1Brett 2Flow regulators 3Connection 4Washer
Pacnpepenutens ans CPR50
Distributor for CPR50 06227/C |165 | 134,5| 41 166 | 06227 o024 05670 2/025
Pacnpegenutens ans CPR63
Distributor for CPR63 06228/C [170 | 137 29,5 | 171 |06228
r .! . Kanan ans 1py6
- Passage for tubes
Fo=s
- & \ {8) e &
..Agk{. 7 Ey
1 / E j:ee
o T T / 10 e
T { @ <
i 31, 52
" . °$
. ai s @ F —
( i
\._./ \_~ [ -é e
\i: 1> € PR ¢||® 9
= (1) o &
e A1 — § ™
Y g d 9 -
HH adilih - */|® ¢f®
72 (45 (3)
Tpumeyanue: TONbKO AN NDIKAMOB C UHAYKTUBHbIM ATUUKOM
NOTE: only for clamps with pneumatic sensor.
Tun Koa L1 L2 L3 dnaxey Perynsatop pacx. |CoeavHeHue Waiba [Bawy. nnaHka
Type Code 1 Brett | 2 Flow regulators | 3Connection | 4Washer 5Protection
Pacnpeaenutens ana CPRS0 | n5153/c 1165 | 1345| 166 | 06153 05670 | 2/025
Distributor for CPR50 2/024 06263
Pacnpepenutens ans CPR63 A [
Distributor for CPR63 061566/C (170 | 137 171 | 06156




VEP AUTOMATION s.r.i.
3AKITIOYEHUE

CONCLUSIONS

Mpoayxuus B katanore SBNAETCH CTAHAaPTHOM.
IoBoit 3anpoc Ha cneuranbHOe NPUMEHEHUE aHaNU3NPYETCA HALWUM TEXHUYECKUM U
KOMMep4YecKkum otaenom/

Mb! ocTaBnsiem 3a coboit npaBo AONONHATL UMK U3MEHATL CBEAEHUSA AaHHOro Katanora 6e3
npeaeapuTenbHOro yBeAOMIEHUs.

The products in the catalogue are standard ones.

Any request for special application shall be evaluated by our technical / commercial
service.

WE RESERVE THE RIGHT TO INTEGRATE OR MODIFY THIS CATALOG WITHOUT NOTICE.

THE COMPLETE DOCUMENTATION BELONGS TO VEP AUTOMATION AND ANY KIND OF
REPRODUCTION IS FORBIDDEN.

OdmumansHbin npeacTaBuTens VEP Automation B Poccum:
000 «MHcTpyMcHab»
P®, 445047, Camapckan o6n., r. TonbaTTy, yn. TononuHas, aom 9, a/a 4531
Ten./cpakc: (8482) 68-14-52, 68-14-24, 68-14-73
Web: www.instrumsnab.ru, E-mail: office@instrumsnab.ru

22



